Sequences 8 Ser\es

(Ch 1\ in the textbook)

A sequences is a lisk of real numbers indexed by the non—neaa\-‘.ve. ‘m-‘:esers

2 3 Yo T L
\ n this case, a,\z? O(Lz)

DOS& ‘“\e sequence '\Mea ‘imi"'? YCS. '&'s Zero.

Defintion: A sequence, £0a3, has limids, L ("5t an=L")
meansg ~ for every £°0 Jou can find an N20, forall n2 N, lOn'Ll‘E

‘;n\mﬂ- _': =0 Given on €20, well feverse-engineer the necessary N from
I - 0l<€
3-0]<€
=>%‘ <§
D<€
2 1<€(2")
XA
=>|03;(ﬂ‘h If you now let N be any ‘m*eaer 2 |oaz(lf.).
then h7N2|03;“s')
so <"
so 1< &(2)
S0 i‘:-‘ﬁ

S0 %-O‘(f_ AS required +o have lim 'L=0

Ndece [




Le*'s “‘r\‘ %nd'ma h\e limit 0{5

Qn=3"+Y
3"'+3 So how do we find ,!

I 3hl+3 !
o lim3%ey 37
Sco 3V\-l+3 l—
3
FAL |
Ly lim 3"~ kD
heo g.,.i
3h
Ly lim 1 "3
ha00 l |
T"’Tn
5 lim_1%0 =1 =3
=7 hoeo . 1
370 3

Limits with a discreate variable (like “n*) instead of a continnovs Variable like x,
Obey He same rules except where COn{-inuni-l-y is nessasary .

We can often work around this us'ma +he 'Fouowil\a +rick:
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Back +o oraaenal example
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